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11 8755 | 4| 7] 7| 7| 6(10(10 25|DTI2 / OM1, PAC / OM2, IA
2| 8766 | 5| 5| 6| 7| 7(10| 9| 6,433| 30| -
3| 8775 | 6| 7| 8| 6| 7| 9|10 7,21 30[-/0M1/-
4| 8792 | 5| 7| 8| 5] 5[(10|10 6,7 30[Mec2/RM1, Mecanisme, RM2, OM1 / OM2-5
5| 7906 [ g| 7| 6| 8| 8| 7[ O 52|SIM, DTI1 / Mecanisme / BIA, IA, SA, EA
6| 8815 | 4| 5| 7| 6| 7| 8[{10 25|SIM/OM1 / -
7] 8816 | 4| 6| O| 7| 7|10(10 18| -/ OM1, Tribologie / -
8l 9166 | 5| 6] 5| 7| 8| 8| O 28] -
9| 8830 | 8| 8| 7| 7| 6|10|10| 7,633] 30{ -/ RM1, Mecanisme, Termoth2, RM2, OM1 / OM2, DA
10| 8843 | 5| 7| 6| 8| 9|10(10( 7,233| 30| -
11| 8848 | 4| 6| 7| 6| 5| 7(10 25| -/ Termoth2 / OM2-5
121 8862 | 3| 7| 6| 7| 7] 9| O 23|DTI2 / Termoth2, PAC / -
13| 8881 |10]|10] 7] 9] 9|10[10 9| 30{-/0M1/0M2
14| 9175 | 4| 5] 6] 6] 6] 6] O 23] -
15| 7172 | 5| 6| 6| 6] 8| 8] O 37|Mec1, Mec2, Termoth1 / TCD, PAC, VM / BIA, IA, AHP, SA, EA, IMAI, Practica spec
16| 8904 | 4| 5] 6] 0] 5| 8| O 17] -
17]1 9181 | 4| 6| 5| 5| 5] 8| O 23[SIM, Mec1, Mec2, DTI2 / OM1, Practica dom / Practica spec
18| 8924 | 3| 6] 8| 6] 5| 8|10 25[Mec1, GD, Mec2, Ed fiz1 / Ed fiz2, OM1, Ed fiz3 / -
19| 8926 | 5| 7| 8| 5| 5| 9]/10] 6,633 30|DTI2/ Termoth2, TCD, RM2, PAC / -
20| 8938 | 4| 5| 5| 8| 5] 8| O 23| -/ OM1, Ed fiz3 / -
21| 8034 | 6|/ Ol Of O] O O O 5|SIM, GD, DTI2 / MS / OM2, MEF, Electroth, AHP, SAC, EA taxa
22| 9187 | 3| 6| 8| 8| 8| 7|10 25] -
23| 8948 | 4 Ol 51 0] 0] O] O 7|DTI1, GD, DTI2, TM / Mecanisme, OM1, PAC, VM / OM2, IA, AHP, SAC
24| 8954 | 4| 7| 6| 7| 6] 9| O 23| -/ OM1, Ed fiz3 / -
25| 9846 | 5| 0| 7| O] 5| 010 171 -
26| 8965 | 5| 6| 6] 7| 6| 8 O 28] -
27| 8976 | O O O] O] O] 9] O 2(SIM, Mec1, DTI1, GD, Mec2, DTI2 / Ed fiz2, OM1, PAC, Ed fiz3 / OM2
28| 8989 | 5| 5| 7| 6| 8] 7|10| 6,433 30|DTI2/OM1, PAC, Practica dom / OM2-5
29| 8994 | 4| 6| 6] 8] 6/10[10 25|SIM-5/OM1 / -
30 %010 | 6 5 7| 6| 7| 8]10]6,567| 30| -
31| 9022 | 4| 5| 5| 6] 6] 8|10 25] -
32| 9516 | 5| 5| 5 6] 8] 6|10 5,9] 30f-
33| 9051 | 4| 6| 5| 6] 5{10] O 23] -
34 9196 | 5| 6 7| 6 7| 8] O 28] -
35/ 9079 | 3] 6/ 51 0] Of 9| O 14|SIM, Mec1, DTI1, GD, PCLP, DTI2/-/ 1A, AHP
36| 9085 | 5| 6| 6| 8| 6| 8|10| 6,633 30|DTI2/Mecanisme, OM1 /-
37| 9091 | 3| 6| 5| 5| 510|110 25(Mec1, Mec2 / -/ -
38| 9979 [10( 9| 8| 9| 9| 8]10]8,933| 39|-/-/BIA-10
39| 9996 | 4| 6| 8| 7| 6] 9]10 25] -
40| 9141 | 5] 6| 7| 6| 8] 9| O 28|DTI1 / Mecanisme, Termoth2 / -
41110019 5] 0| 5| O] O 6 O 23| -/-/BIA-5, 1A




